October

Year 5&6 calendar answers

100,000 cm
7 hour 55 minutes
Area = base x height
Clock drawn to 11.35
9,300
£1.59
A multiple of 3 is a number that is divisible by 3
11, 13,17,19, 23, 29, 31, 37,41, 43...
300,000
. False
. 163
. 9:45, quarter to ten
. It has been multiplied by 100 (x100)
. The sign means ‘less than’
. Each apple costs 12p
. 2.25
. 300 seconds
. 652,800
. 4,671
.21/60r33/60r3%
. £4.28
. 2.4
. 47,258
. 2 thousand, 2,000
. Three blue stickers and four red stickers, or any equivalent multiple e.g. 6 blue & 8 red or 9
blue & 12 red
26. 84 students
27. 20 children
28. Percentages are always out of 100
29. The inverse of addition is subtraction
30. 29,600
31. 144
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